
PR
O
IZ

VO
D
N
O
S
T
 I
N
 U
ČI

N
EK

 
PL

ET
IL

N
IK

O
V

D
ol
ži
ns
ka

 p
ro
iz
vo
dn

os
t 
pl
et
iln

ik
a

D
ol
ži
ns
ki
 u
či
ne

k 
pl
et
iln

ik
a

M
as
na
 p
ro
iz
vo
dn

os
t 
pl
et
iln

ik
a

M
as
ni
 u
či
ne

k 
pl
et
iln

ik
a

η⋅
⋅

⋅
⋅

=
−

B
n

S
P
d
o
lž

5
1

0

T
B

n
S

T
P

U
d
o
lž

d
o
lž

⋅
⋅

⋅
⋅

⋅
=

⋅
=

−
η

5
1

0

M
W

P
1

0
 

P
d

o
lž

-2
m

a
s

⋅
⋅

⋅
=

T
M

W
B

n
S

T
M

W
P

T
P

U
d
o
lž

m
a
s

m
a
s

⋅
⋅

⋅
⋅

⋅
⋅

⋅
=

⋅
⋅

⋅
⋅

=
⋅

=
η

1
0

1
0

 



PR
O
IZ

VO
D
N
O
S
T
 I
N
 U
ČI

N
EK

 
PL

ET
IL

N
IK

O
V

D
ol
ži
ns
ka

 p
ro
iz
vo
dn

os
t 
pl
et
iln

ik
a
= 
do

lž
in
a 
pl
et
iv
a/
ča

so
vn
o 
en

ot
o 
 

η⋅
⋅

⋅
⋅

=
−

B
n

S
P
d
o
lž

5
1

0
(m

m
in

-1
)

S
�

št
e
vi

lo
d
e
lu

jo
či

h
 p

le
til

n
ih

 s
is

te
m

o
v

n
 �

fr
e
kv

e
n
ca

 p
le

te
n

ja
 =

 š
te

vi
lo

 v
rt

lja
je

v 
(m

in
-1

)
B

�
vi

ši
n
a
 z

a
n

ke
 =

 v
iš

in
a
 z

a
n

čn
e
 v

rs
te

 (
m

m
)

η
�

iz
ko

ri
st

e
k

p
le

til
n
ik

a
(%

)

D
ol
ži
ns
ki
 u
či
ne

k 
pl
et
iln

ik
a

T
B

n
S

T
P

U
d
o
lž

d
o
lž

⋅
⋅

⋅
⋅

⋅
=

⋅
=

−
η

5
1

0

T
 �

ča
s 

p
le

te
n
ja

 (
m

in
)



PR
O
IZ

VO
D
N
O
S
T
 I
N
 U
ČI

N
EK

 
PL

ET
IL

N
IK

O
V

Fr
ek

ve
nc
a 
pl
et
en

ja
:

c
e
l

p
l

p
l

B

v
n

6
0

⋅
=

Φ⋅
π

⋅
=

6
0

v
n

kr
kr

n
p

l
�

fr
e
kv

e
n
ca

p
le

te
n

ja
=

 š
te

vi
lo

vr
tlj

a
je

v
(m

in
-1

)
v p

l
..

. 
h
itr

o
st

 g
ib

a
n
ja

 s
a

n
i p

re
k 

ig
e
ln

ic
e
 (

m
m

s-
1
)

B
ce

l
�

ce
lo

tn
a

ši
ri
n
a

ig
e
ln

ic
e

=
 š

ir
in

a
ig

e
ln

ic
e

p
re

k
ka

te
re

se
 g

ib
lje

jo
sa

n
i(

m
m

)

n
kr

�
fr

e
kv

e
n
ca

p
le

te
n

ja
=

 š
te

vi
lo

vr
tlj

a
je

v
(m

in
-1

)
v k

r
..

. 
h
itr

o
st

 g
ib

a
n
ja

 s
a

n
i p

re
k 

ig
e
ln

ic
e
 (

m
m

s-
1
)

Φ
�

p
re

m
e
r

p
le

til
n
ik

a
(m

m
).



PR
O
IZ

VO
D
N
O
S
T
 I
N
 U
ČI

N
EK

 
PL

ET
IL

N
IK

O
V

M
as
na
 p
ro
iz
vo
dn

os
t 
pl
et
iln

ik
a
= 
m
as
a 
pl
et
iv
a/
ča

so
vn
o 
en

ot
o

M
as
ni
 u
či
ne

k 
pl
et
iln

ik
a

M
W

P
1

0
 

P
d

o
lž

-2
m

a
s

⋅
⋅

⋅
=

T
M

W
B

n
S

T
M

W
P

T
P

U
d
o
lž

m
a
s

m
a
s

⋅
⋅

⋅
⋅

⋅
⋅

⋅
=

⋅
⋅

⋅
⋅

=
⋅

=
η

1
0

1
0

 

W
 .

..
 š

ir
in

a
 p

le
tiv

a
 (

cm
)

M
�

p
lo

šč
in

sk
a
 m

a
sa

 p
le

tiv
a
 (

g
m

-2
)



Iz
ra
č
u
n
 p
ro
iz
v
o
d
n
o
s
ti
 i
n
 u
č
in
k
a
 

p
le
ti
ln
ik
a

•
K

o
lik

šn
a
 je

 m
a
sn

a
 p

ro
iz

vo
d
n

o
st

 p
ri
 p

le
te

n
ju

 1
5
0
 c

m
 š

ir
o
ke

g
a
 

vo
ln

e
n
e

g
a
 le

vo
-d

e
sn

e
g
a
 p

le
tiv

a
 iz

 p
re

je
 2

5
 x

 2
 t

e
x,

 
iz

d
e
la

n
e
g

a
 n

a
 k

ro
žn

e
m

 p
le

til
n

ik
u

 s
 p

re
m

e
ro

m
 2

8
 a

n
g
le

šk
ih

 
p
a

lc
e
v,

 z
 d

e
lit

vi
jo

 1
6

E
, 
1
6
 s

is
te

m
i i

n
 iz

ko
ri
st

ko
m

 9
0
%

. 
K

a
kš

n
o
 d

o
lž

in
o
 p

le
tiv

a
 s

p
le

te
m

o
 v

 1
6
 u

ra
h
?
 K

a
kš

n
o
 je

 
kr

če
n
je

 p
o
 p

le
te

n
ju

?
 H

itr
o
st

 v
rt

e
n
ja

 c
ili

n
d
ra

 je
 6

0
0
 m

m
s-

1
.

T
t
=

 2
5
 x

 2
 t

e
x

W
kr

=
 1

5
0
 c

m
Φ

=
 2

8
" 

a
n
g
l.

N
o
 =

 1
6
E

S
 =

 1
6

η
=

 9
0
%

T
 =

 1
6
 h

v k
r
=

 6
0
0
 m

m
s-

1
P
m
a
s
 =
 ?

U
d
o
lž
=
 ?

s
k
 =
 ?



m
m

 
0,

30
=

⋅
=

=
5

0
0

4
3

,0
T

k
t

p
r

d

m
m

 
1
,2

 
 

d
4 

 
p

r
=

⋅
=

A

m
m

 
1
,1

 
 

m
m

 
1

,2
0

,8
6

5
 

 
A

C
=

⋅
=

⋅
=

BV
iš

in
o
 z

a
n

ke
 p

ro
je

kt
ir
a
m

o
 iz

 d
e
b

e
lin

e
 p

re
je

, 
to

 p
a
 iz

 d
o
lž

in
sk

e
 

m
a
se

 p
re

je
 (

e
n
a
č
b
e
 8

, 
1
1
, 

1
8
),

 p
ri 
č
e
m

e
r 

u
p
o

št
e
va

m
o
, 

da
 g

re
 

za
 n

o
rm

a
ln

o
 p

le
tiv

o
, 

p
ri
 k

a
te

re
m

 s
e
 ig

e
ln

i i
n
 p

la
tin

sk
i l

o
ki

 
st

ik
a
jo

, 
to

re
j j

e 
α

1
=

 4
:

D
o

lž
in

o
 z

a
n
ke

 iz
ra
č
u
n

a
m

o
 p

o
 e

n
a
č
b
i 1

5
 o

b
 u

p
o
št

e
va

n
ju

 
D

a
lid

o
vi
č
e
ve

g
a
 d

o
lž

in
sk

e
g
a
 m

o
d

u
la

 z
a
n
ke

 δ
ℓ

=
 1

6
,6

 
(v

e
lja

, 
ke

r 
sm

o
 p

ro
je

kt
ir
a
li 

id
e
a

ln
o

 p
le

tiv
o
 s

 k
o
e
fic

ie
n
to

m
 

g
o
st

o
te

 C
=

0
,8

6
5
):

m
m

 
5,

0
 

 
m

m
 

0
,3

 
6,

1
6

d 
1

6
,6

 
 

p
r

=
⋅

=
=

l



cm 
za

n
k/

5
 

41
,7

D
h

=
=

A5
0

 
 

cm 
za

n
k/

5
 

45
,4

D
v

=
=

B5
0

 
 

-2
g
m

 
1
9
1
,1

 
 

5
0

  
5

,0
 

4
5

,4
  

4
1

,7
 

1
0

4 
T

 
 

D
 

D
 

1
0

  4
= 

4
 t

h
v

4
=

⋅
⋅

⋅
⋅

⋅
=

⋅
⋅

⋅
⋅

⋅
−

−
l

MH
o
ri

zo
n
ta

ln
o
 in

 v
e
rt

ik
a
ln

o
 g

o
st

o
to

 iz
ra
č
u
n

a
m

o
 p

o
 e

n
a
č
b

a
h
 2

0
 in

 2
1

:

P
lo

šč
in

sk
o
 m

a
so

 p
le

tiv
a
 iz

ra
č
u
n
a

m
o
 p

o
 e

n
a
č
b
i 1

0
:

6
0n

v
kr

kr
⋅

Φ⋅
π
=

1-
kr

m
in

  
16

,1
n

=
⋅

⋅
π

⋅
=

Φ⋅
π

⋅
=

m
m

 4,
2

5
2

8

m
m

 
6

0
0

6
0

v
6

0
kr

Z
a

iz
ra
č
u
n

d
o

lž
in

sk
e
g

a
u
č
in

ka
p

le
til

n
ik

a
iz

ra
č
u
n
a
m

o
fr

e
kv

e
n
co

p
le

te
n
ja

za
kr

o
ž
n
e

p
le

til
n

ik
e

p
o

e
n

a
č
b
i3

5
:



-1
d
o
lž

m
in

 
m 

0
,2
6

P
 

9
0

  
m

m
 

1
,1

 
m

in
 

1
6

,1
1

6
 

1
0

 
 

B
n

S
1

0
-1

-5
5

=
⋅

⋅
⋅

⋅
=

η⋅
⋅

⋅
⋅

=
−

 

m
in

 
6

0
1

6
9

0
 

m
m

  
1

,1
m

in
  

1
6

,1
 

1
6

1
0

 
T

B
n

S
1

0
T

P
-1

-5
5

d
o

lž

m 
2
4
4
,8

U
d
o
lž

=

=
⋅

⋅
⋅

⋅
⋅

⋅
=

⋅
η⋅

⋅
⋅

⋅
=

⋅
=

−

D
o

lž
in

sk
o
 p

ro
iz

vo
d

n
o

st
 in

 d
o

lž
in

sk
i u
č
in

e
k 

p
le

til
n

ik
a
 iz

ra
č
u
n
a
m

o
 

p
o
 e

n
a
č
b

a
h
 3

2
 in

 3
3
:

(
)

1
0

0

sk - 
1

0
0

  
  

 =
W 

kr
Φ

π

%
3
2
,9

s
k

 
cm 

5
4

,2
2

8

cm 
1

5
0

1
0

0
1

0
0

W
1

0
0

1
0

0
kr

=
⋅

⋅
π

⋅
−

=
Φ⋅

π

⋅
−

=

K
rč

e
n
je

p
e

lti
va

iz
ra
č
u
n

a
m

o
iz

e
n
a
č
b
e

5
:

to
re

jj
e:



•
D

o
lo

či
te

dn
e

vn
id

o
lž

in
sk

iu
či

n
e

k
p

lo
sk

eg
a

d
vo

fo
nt

ur
n

eg
a

p
le

til
n

ik
a

, 
ki

p
le

te
d

ve
iz

m
e

n
id

ne
vn

o
(1

6 
ur

).
 H

itr
o

st
g

ib
a

n
ja

sa
n

ij
e

 7
2

5
 m

m
s-

1
, i

m
a

12
6

0
 ig

e
l, 

d
e

lit
e

v
10

 E
 te

r
je

 d
vo

si
st

em
sk

i. 
V

e
rt

ik
a

ln
a

g
os

to
ta

p
le

tiv
a

je
 4

0
 z

a
n

k/
5

 c
m

. Š
ir

in
a

sa
n

ij
e

 5
0

 c
m

. I
zk

or
is

te
k

p
le

til
n

ik
a

je
 

8
5

%
.

•
T

 =
 1

6
 h

•
v p

l
=

 7
25

 m
m

s-1

•
N

i
=

 1
26

0
•

N
o

=
 1

0
E

•
S

 =
 2

•
D

v
=

 4
0

 z
a

nk
/5

 c
m

•
η

=
 8

5
%

•
B

sa
n
i
=

 5
0

 c
m

•
U

d
o
lž
=
 ?



e

o
d

e
l M

N  
B  = 

N
i

1
2

N
i

2
N

i
⋅

=

6
3

0
2

1
2

6
0

2N
i

N
i

2
1

=
=

=

c
m

 
1
6
0

B
d
e
l

 
1

0

cm 
5

4
,2

6
3

0
 

 
N

oM
e

N
i 1

=
⋅

=
⋅

=

sa
n

i
d

e
l

ce
l

B
B

B
+

=

c
m

 
2
1
0

B
c
e
l

=
+

=
cm 

5
0

cm 
1

6
0

Š
ir

in
o

ig
e

ln
ic

e
iz

ra
č
u

n
a
m

o
iz

št
e
vi

la
 ig

e
l i

n
 d

e
lit

ve
 p

o
 e

n
a
č
b

i 2
:

in
 

to
re

jj
e:

P
ri

iz
ra
č
u

n
u

p
ro

iz
vo

d
n
o
st

i
u
p

o
št

e
va

m
o

ce
lo

tn
o

ši
ri

n
o

ig
e

ln
ic

e
, 

p
re

k
ka

te
re

se
 g

ib
lje

jo
sa

n
i:



1
p
l

2
0
,7
m
in

n
−

=
⋅

=
⋅

=
m

in
 

m
m

 
2

1
0

0

 
6

0
m

m
 

7
2

5

B

6
0

v

ce
l

p
l

m
m

 
1
,3

B
 

 
4

0m
m

 
5

0
 

DE

vg
=

=
=

m 
4
3
,9

U
d
o
lž

 
m

in
 

6
0

  
1

6
  

8
5

 
m

m
 

1
,3

  
m

in
 7,

2
0

 
2

1
0

T
B

n
S

1
0

T
P

-1
5

5
d

o
lž

=
⋅

⋅
⋅

⋅
⋅

⋅
=

⋅
η⋅

⋅
⋅

⋅
=

⋅
=

−
−

F
re

kv
e
n
co

p
lo

sk
e

g
a

p
le

til
n
ik

a
iz

ra
č
u
n
a
m

o
iz

e
n
a
č
b

e
3
4
:

V
iš

in
o

za
n

ke
iz

ra
č
u
n
a

m
o

iz
ve

rt
ik

a
ln

e
g
o
st

o
te

(e
n
a
č
b
a

2
1
):

D
o

lž
in

sk
i u
č
in

e
k 

p
le

til
n
ik

a
 je

 k
o
n
č
n
o
 (

e
n
a
č
b

a
 3

3
):



•
D

o
lo

či
d
o

lž
in

sk
ii

n
 m

a
sn

iu
či

n
e
k

e
n
o
fo

n
tu

rn
e
g
a

2
4
-

si
st

e
m

sk
e
g

a
 p

le
til

n
ik

a
v 

3
2
 u

ra
h
, 
če

je
 p

re
m

e
r

p
le

til
n

ik
a

2
0
 a

n
g

l. 
p
a

lc
e
v,

 iz
ko

ri
st

e
k

8
0
%

, h
itr

o
st

vr
te

n
ja

ci
lin

d
ra

6
5
0
 m

m
 s

-1
, 

ve
rt

ik
a
ln

a
g
o
st

o
ta

b
o
m

b
a
žn

e
g

a
p
le

tiv
a

p
a
 

4
2
 z

a
n
k/

5
 c

m
.

•
S

 =
 2

4
•

T
 =

 3
2
 h

•
Φ

=
 2

0
" 

a
n
g
l. 

•
η

=
 8

0
%

•
v 

=
 6

5
0
 m

m
s-

1
•

D
v

=
 4

2
/5

 c
m

•
C

o
 p

le
tiv

o
•

U
d
o
lž
=
 ?

•
U
m
a
s
=
 ?

Iz
 v

e
rt

ik
a
ln

e
 g

o
st

o
te

 p
le

tiv
a
 p

o
 e

n
a
č
b

i 2
1
 iz

ra
č
u
n
a
m

o
 v

iš
in

o
 

za
n
ke

, 
ki

 v
p
liv

a
 n

a
 p

ro
iz

vo
d

n
o
st

 p
le

til
n

ik
a
:

m
m

 2,1
m

m
 

1
9

,1
4

2

5
0

DE
B

vg
=

=
=

=



m
m

 
1

,4
 

 
m

m
 

3
8

,1
8

6
5

,0

m
m

 
1

9
,1

CB
A

=
=

=
=

m
m

 
0

,3
 

 
m

m
 

3
4

,0
4m

m
 

3
8

,1

4A
d

4
p

r
=

=
=

=
⇒

=
αZ

 u
p
o
št

e
va

n
je

m
ko

e
fic

ie
n
ta

g
o
st

o
te

p
le

tiv
a

za
id

e
a

ln
o

p
le

tiv
o

C
 =

0
,8

6
5
 p

o
e
n
a
č
b

i8
 iz

ra
č
u
n
a
m

o
ši

ri
n
o

za
n
ke

, 
d
a

iz
n
je

p
re

k
ši

ri
n
sk

e
g
a

ko
e
fic

ie
n
ta

p
le

tiv
a
α

=
 4

 (
e
n
a
č
b
a

1
8
) 

iz
ra
č
u
n

a
m

o
p
re

m
e
r

p
re

je
:

Iz
 p

re
m

e
ra

 p
re

je
 z

 u
p
o

št
e
va

n
je

m
 d

o
lž

in
sk

e
g

a
 m

o
d
u
la

 z
a
n
ke

 
za

 id
e

a
ln

o
 p

le
tiv

o
 p

o
 D

a
lid

o
vi
č
u
 (

u
p
o
št

e
va

li 
sm

o
 id

e
a
ln

i 
ko

e
fic

ie
n
t 

go
st

o
te

 p
le

tiv
a
 C

=
0
,8

6
5
) 

iz
ra
č
u
n
a

m
o
 d

o
lž

in
o
 z

a
n
ke

 
p
o
 e

n
a
č
b

i 1
5
:

m
m

 7,5
m

m
 

7
1

,5
d

6,
1

6
6,

1
6

p
r

=
=

⋅
=

⇒
=

δ
l

l



cm 5/ 3,
3

6
m

m
 

3
8

,1

5
0

AE
D

g
h

=
=

=

cm 5/
3,

3
6

8
6

5
,0

4
2

C
D

D
v

h
=

⋅
=

⋅
=

H
o
ri

zo
n
ta

ln
o
 g

o
st

o
to

 p
le

tiv
a
 iz

ra
č
u
n
a
m

o
 b

o
d

is
i i

z 
ši

ri
n

e
 z

a
n
ke

 
(e

n
a
č
b
a
 2

0
) 

b
o
d
is

i i
z 

ve
rt

ik
a
ln

e
 g

o
st

o
te

 p
le

tiv
a
 (

e
n
a
č
b
a

 8
):

2/
1

p
r

p
r

te
x

 
2

9
,8

0
4

1
,0

3
4

,0

kd
T

t
T

t
k

d
=

=
=

⇒
= (

)
te

x
 8,

6
8

 
te

x
 

7
7

,
6

8
te

x
 

2
9

,8
T

2
2/

1
t

=
=

=

Iz
 p

re
m

e
ra

 p
re

je
 d

p
r
s 

p
o
m

o
č
jo

 k
o
e
fic

ie
n
ta

 d
e
b
e

lin
e
 p

re
je

 z
a
 

b
o
m

b
a
ž
n

o
 p

le
tiv

o
 (

p
re

g
le

d
n
ic

a
 9

) 
 iz

ra
č
u
n
a
m

o
 d

o
lž

in
sk

o
 

m
a
so

 p
re

je
 p

o
 e

n
a
č
b
i 1

1
:



P
o
 e

n
a
č
b

i1
0
 iz

ra
č
u
n

a
m

o
p
lo

šč
in

sk
o

m
a
so

p
le

tiv
a
:

-2
4

 t
h

v
4

g
m

 
2

3
9

,2
 

 
6

8
,8

  
5

,7
 

4
2

  
3

6
,3

 
1

0
4 

T
 

 
D

 
D

 
1

0
  4

= 
M

=
⋅

⋅
⋅

⋅
⋅

=
⋅

⋅
⋅

⋅
⋅

−
−

l

F
re

kv
e
n
co

 p
le

te
n
ja

 iz
ra
č
u
n
a
m

o
 p

o
 e

n
a
č
b

i 3
5
:

1-
-1

kr
m

in
  

,44
2

m
m

 4,
2

5
2

0

s 
m

m
 

6
5

0
6

0
v

6
0

=
⋅

⋅
π

⋅
=

Φ⋅
π

⋅
=
krn

-1
-1

-5
5

d
o

lž
m

in
 

m 
0

,5
6

 
8

0
  

m
m

 
1

,2
 

m
in

 4,4
2

2
4

 
1

0
 

 
B

n
S

1
0

P
=

⋅
⋅

⋅
⋅

=
η⋅

⋅
⋅

⋅
=

−  
m 

1
0
8
1
,0

U
d
o
lž

=

=
⋅

⋅
⋅

⋅
⋅

⋅
=

⋅
η⋅

⋅
⋅

⋅
=

⋅
=

−
m

in
 

6
0

23
8

0
 

m
m

  
1

,2
m

in
  

2
4

,4
42

1
0

 
T

B
n

S
1

0
T

P
-1

-5
5

d
o

lž

1
-2

-1
2

d
o

lž
-2

m
a

s
m

in
 g 9,

0
0

2
 

m g 
2

3
9

,2
 . 

cm 
1

5
0

  
m

in
 

m 
0

,5
6

 
1

0
M

W
P

1
0

 
P

−
−

=
⋅

⋅
=

⋅
⋅

⋅
=

 
 

 
m

in
 

6
0

3
2

m
in

 
kg 

0
,1

9
9

 
T

P
-1

m
a

s
k
g

 
3
8
5
,8

U
m
a
s

=
⋅

⋅
=

⋅
=

D
o

lž
in

sk
o
 in

 m
a
sn

o
 p

ro
iz

vo
d

n
o
st

 t
e
r 

d
o
lž

in
sk

i i
n
 m

a
sn

i u
č
in

e
k 

ko
n
č
n
o
 iz

ra
č
u
n
a
m

o
 p

o
 e

n
a
č
b
a
h
 3

2
, 

3
3
, 
3
6
 in

 3
7
.



•
E

n
o

fo
n

tu
rn

i k
ro

žn
i p

le
til

n
ik

 im
a

 p
re

m
e

r 
32

 a
n

g
le

šk
ih

 p
a

lc
e

v,
 d

e
lit

e
v 

2
8

E
 in

 9
6

 s
is

te
m

o
v.

 F
re

kv
en

ca
 p

le
te

n
ja

 je
 3

5
 m

in
-1

, 
uč

in
e

k 
p

a
 9

0
%

. 
P

le
te

 e
n

os
ta

vn
o

 le
vo

-d
es

no
 p

le
tiv

o
 iz

 p
re

je
 z

 d
o

lž
in

sk
o

 m
as

o
 2

0
 te

x.
 

N
e

o
b

de
la

n
o

 b
o

m
ba

žn
o

 p
le

tiv
o

 im
a

 h
or

iz
o

n
ta

ln
o

 g
o

st
o

to
 1

3
 

za
nk

/c
m

, v
e

rt
ik

a
ln

o
 p

a
 1

8
 z

a
nk

/c
m

. P
o

vr
ši

ns
ka

 m
a

sa
 p

le
tiv

a
 je

 1
25

 
g

m
-2

. K
ak

šn
i s

ta
 d

o
lž

in
sk

a 
in

 m
a

sn
a

 p
ro

iz
vo

d
no

st
 p

le
til

n
ik

a
?

•
Φ

=
 4

3
" 

a
ng

l.
•

N
o

 =
 2

8
 E

•
S

 =
 9

6
•

n
kr

 =
 3

5
 m

in
-1

•
η

=
 9

0
%

•
T

t=
 2

0
 te

x
•

L
-D

 n
e

ob
d

e
la

n
o

 C
o

 p
le

tiv
o

•
D

h
 =

 1
3

 z
a

nk
/5

 c
m

•
D

v 
=

 1
8

 z
a

nk
/5

 c
m

•
M

 =
 1

2
5

 g
m

-2
•

P
d
o
lž
=
 ?

•
P
m
a
s
 =
 ?



m
m

 8,0
m

m
 

7
7

,0
1

3

1
0

DE
A

hg
=

=
=

=

m
m

 6,0
m

m
 

5
6

,0
1

8

1
0

DE
B

vg
=

=
=

=

-1
d
o
lž

m
in

 
m 

1
,6
8

P
 

9
0

  
m

m
 

0
,5

6
 

m
in

 
3

5
9

6
 

1
0

 
 

B
n

S
1

0
-1

-5
5

=
⋅

⋅
⋅

⋅
=

η⋅
⋅

⋅
⋅

=
−

Iz
 h

o
ri
zo

n
ta

ln
e
 g

o
st

o
te

 p
le

tiv
a
 p

o
 e

n
a
č
b

i 2
0
 iz

ra
č
u
n
a

m
o
 š

ir
in

o
 

za
n
ke

, 
iz

 v
e
rt

ik
a
ln

e
 g

o
st

o
te

 p
a
 p

o
 e

n
a
č
b

i 2
1
 v

iš
in

o
 z

a
n
ke

. 
E

n
o
ta

 p
o
d

a
ja

n
ja

 g
o
st

o
te

 p
le

tiv
a
 je

 1
0
 m

m
!

D
o

lž
in

sk
o
 p

ro
iz

vo
d

n
o

st
 p

le
til

n
ik

a
 iz

ra
č
u
n
a
m

o
 p

o
 e

n
a
č
b

i 3
2
:

2
8

1
4

m
m

 
2

5
,4

2
8

m
m

 4,
2

5
3

2

M

N
N

i
e

o
1

=
⋅

⋅
⋅

=
⋅

Φ⋅
=

π
π

Iz
p
o
d
a
tk

o
v

o
 p

re
m

e
ru

in
 d

e
lit

vi
p
le

til
n
ik

a
p
o

e
n
a
č
b

i3
 

iz
ra
č
u
n

a
m

o
št

e
vi

lo
ig

e
lp

le
til

n
ik

a
, 
ka

r
h
kr

a
ti

p
o
ve

, 
ko

lik
o

za
n
č
n

ih
st

o
lp

ce
v

im
a

p
le

tiv
o

p
o

ši
ri
n

i.



cm 
2

1
7

m
m

 
2

1
6

7
7

7
,0

2
8

1
4

A
N

i
W

kr
=

=
⋅

=
⋅

=

Iz
št

e
vi

la
ig

e
li

n
 š

ir
in

e
za

n
ke

la
h
ko

iz
ra
č
u
n
a

m
o

ši
ri
n
o

p
le

tiv
a
:

M
a
sn

o
p
ro

iz
vo

d
n

o
st

ko
n
č
n
o

iz
ra
č
u
n
a
m

o
p

o
e
n
a
č
b

i3
6
:

-1
m
a
s

m
in

 
g 

4
5
8

P
 

 
m

in
 g 

4
5

5
,7

 
m g 

1
2

5
 . 

cm 
2

1
7

  
m

in
 

m 
1

,6
8

 
1

0
M

W
P

1
0

 
1

-2
-1

2
d

o
lž

-2
=

=
⋅

⋅
=

⋅
⋅

⋅
=

−
−


